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[ 63,399
05 RIZt2IEt = 350,000 347,000 3,000
OOtoI=sS X3 ALY 2F 350,000,000 «17H £ 350,000
= 245,000
< 42,000
e 63,000
11T M Z2XAS EX 570 510 60
OO0t0l==20l A2 HZAH XI& 30,0008 +19H 570
< 171
s 399
ol A2XA 9,390 7,030 2,360
= 4,695
< 1,878
[ia 2,817
301 LeEBAF 9,390 7,030 2,360




A AMIEX
My Lol=X gAY 24 Hid =4
Sl 24 HAW 84 X CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 4,695
< 1,878
= 2,817
01 Al B & A 46 2 9,390 7,030 2,360
OFALAE AHALXNIAFY 11,000 +71. 138~ 12& 9,390
= 4,695
= 1,878
= 2,817
B XN& L BSAE2S 22 1,205,975 1,153,249 52,726
< 119,880
= 1,086,095
BECH X 1,205,975 1,153,249 52,726
= 119,880
= 1,086,095
BECH 29 Y S#HAXE 1,205,975 1,153,249 52,726
& 119,880
= 1,086,095
101 21 214| 14,434 14,302 132
04 JIZtHIZ22XNSE S 14,434 14,302 132
OBESANELEE S#HFEY & H=Z=H ol 14,434
— ol d]| 78,1203 »4H x5 x93| 14,062
— 1N - MIEBEE= 13,869, 000& *2 .68% 372
201 YEre Al 17,500 17,500 0
01 AP 2t 2| bl 9,500 9,500 0
OSEHESUHAI 25 ¢ 1,000, 000& 1,000
OB&E & ZHj2td A 2337 500,000& 500
OBZEANE A7E S 2,000,000& 2,000
O6.25&2MKRBX &H 2UE 500,000 128 6,000
03 A2 Y| 8,000 8,000 0]
OSE=UHA 8,000,000& 8,000
301 et A= 918,850 944,300 N 25,450
= 119,880
= 798,970
01 Al E & A 462 909,400 909, 400 0
O=gg2LN 2 8F /22
100,000& x8H x23| 1,600
O2INEZUAL AIXRZ=2 300,000 x50H 15,000
OBZ2di==¢ 80,000 x930H ~12& 892,800
& 119,880
= 772,920
09 SHAIAHI X & 2 9,450 2,500 6,950
OB&aa 2AsA EAX AlH B A
70,000& x35H 2,450
OSSUHA EIIA AHIEA 20,000 *350H 7,000
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AN ALEI =X
(_:I'

HM: BEFCH XNE L EFAES 22
o©e: BECH X3 (chel & 9l)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@i HRE2
03 QIZI X EHESIEHIEX 105,467 87,486 17,981
OM0|Z2Es 29X 29,341,000 29,341
OF=2d8dRZEs 29X 1,926,000 1,926
ONszZd0I20s 2N 1,030, 000& 1,030
ORBx=2Xg 29X 20,800,000 20,800
O6.25&2 8RB I X 20,710,000& 20,710
ONEMERE 2HXNA 6,460,000 6,460
OgYENMAE 2HXS 25,200,000 25,200
04 CIZ2tSHALALS B = 8,500 8,500 0
O6.253 AH(6.25& M S 2 Xt3])
8,500,000& *1JH A 8,500
401 AlEHIZL £ 0HY| 70,000 0 70,000
01 Al&H| 70,000 0 70,000
OFdH =s=E(Hetoe) 24 & old
70,000,000 x 14! 70,000
SAMNENH 2435 408,108 515,704 A 107,596
= 30,489
< 29,595
= 348,024
2SAIEN 2 408,108 515,704 A 107,596
= 30,489
< 29,595
= 348,024
AN LSS AES 347,130 455,500 A 108,370
& 17,400
= 329,730
307 2Iz2t0| & 347,130 455,500 A 108,370
= 17,400
= 329,730
03 IZI X PHAES2IHIEX 249,330 268,000 N 18,670
O(M) X ESAMEAE 29 X (2HI3=I0H199,3
308 &) 249,330,000 *1JH & 249,330
& 15,000
= 234,330
11T A EXAIEEX 97,800 187,500 A 89,700
Oz0lIte dHENY &9 8,500,000 *1JH & 8,500
O0lsMHEtE 29 18,300,000& 18,300
OXNEEAIAS Y& JIEA & RotsANFA=
Al 25,000,000 13| 25,000
LEXNA2ALAL IS 5,000,000 13| 5,000
OXgSAF Mgtz 829 23 M=
1,000,000 = 15JH St 15,000
OFAE XIS ALA & 3F 5,000,000 =23 10,000
O3 %UlLls IIEENH 29
3,000,000 *1JH & 3,000
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SH: ASI =X D
Ho: HEN HSXE

@2 MM UsS XN (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 M BEEESG2 2,500 2,500 0
OIS NAAMY 250,000& *10H 2,500
= 500
= 2,000
307 21240 & 5,000 5,000 0
& 1,000
= 4,000
02 DI2HEAAIEE X 5,000 5,000 0
OO0t0l )| ESHad2sE2R 29
5,000,000& x13] 5,000
= 1,000
= 4,000
HE AL (M3 =X ) 248,636 226,827 21,809
ol 2HHI (Al =X ) 158,418 151,347 7,071
ol 2| (A= X 1) 158,418 151,347 7,071
101 @124l 158,418 151,347 7,071
01 2 158,418 151,347 7,071
OANZte 282 157,159
— 62 11,6343 x7H «50A| 2tx12& 48,863
73 10,841 *9H x50 A| 2+ x 128 58,542
— 82 9,733& *4H x50A| 2tx 12 23,360
-9 8,798 x5 x50 A| 2+ 128 26,394
OMSIM Al 139,815,000& *0.9/100 1,259
Jl2ddl (At 2 X)) 90,218 75,480 14,738
Jl2AH| (Ats =X 1H) 90,218 75,480 14,738
201 LEt2 Y| 69, 144 49,780 19,364
01 AFR2t2l bl 66,644 47,980 18,664
o4& A3 =¢ 70,000 *10H 43| 2,800
OMBIDISI(EY) 220,000& x7& x12& 18,480
OJIEISYHI (MREE MM S)(BY)
7,500,000& 7,500
OS2 (BNH) 8,000& x26Y x9d x12& 22,464
OUNER=ESZS(EW) 200,000& = 12& 2,400
OZZ LY eHE3E +¢ 13,000,000& 13,000
02 352494l 2,500 1,800 700
03322 ¢ HAsU=2 2,500,000& 2,500
202 04t 15,014 19,640 N4 626
01 2LHHI 15,014 19,640 N4, 626
OAZEXgR2(sNH) 300,000& x1H x12& 3,600
OslUYEINIALFR(ENH) 67,250& x4 «6& 1,614
OMdlZelgRFX 20,0003 *2H 53| x12& 2,400




A AMIEX
Ha: HY2HAH|(ALSI =2 X D)
SR JI=2dYl(AMSIEX W) )
- _ _ RE]
SA BB (3H) - NRAY - B %@i 2t
SEENEIED)) 2,400
OMIZSXN2AEZ2RJ HEAIZ 5,000
203 R F & 6,060 6,060 0
04 FEASHEYFFEH| 6,060 6,060 0
OS2I ELE2F=8H| 505,000 x12& 6,060
MEE S (AL 22X D) 347,616 314,601 33,015
HWEHH X = (At =X ) 347,616 314,601 33,015
28I =22yg EEIIH dE2 347,616 314,601 33,015
701 JIEISI HSHES 347,616 314,601 33,015
01 JIEIS HEE2 347,616 314,601 33,015
OozInII22HEEIH &
347,616,000 347,616




